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EM 3 Let A be an m x n matrix. The orthogonal complement of the row space of A is
/ the null space of A, and the orthogonal complement of the column space of A is

the null space of A”:
(RowA): =NulA and (ColA)t = NulA”
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Let A be an n x n matrix. Then the follow
the statement that A is an invertible matrix. \‘YCO

m. The columns of A form a basis of R”. y @ ! ; !! \ Q = M

n. Col4 = R" \— 3
0. dimCol A =n
p. rank A = n Smmelia e censg e
q. Nul4 = {0} 0
r. dimNul4 =0
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Tlhwe e Tows A = Col AT
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—EM 3 Let A be an m x n matrix. The orthogonal complement of the row space of A is
the null space of A, and the orthogonal complement of the column space of A is
the null space of A”:

(Row A) =NulA and (ColA)t = NulA”
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Col(A) = Col &
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